

محاضرات

الاتحاد المساعدا
حوسبا مكن كر يدكي

المرحلة الأولى

تفاضل وتفاضل

II

العقل الدراجي الثاني

٢٠١٦ - ٢٠١٧

التكامل

"Integration"

Antiderivative: تكامل العكس

يقصد بـ تكامل العكس إيجاد الدالة التي علمت مشتقتها. إذا كانت $F(x)$ دالة ما مشتقتها فافتره معينة من x هو $F'(x) = f(x)$ نأثنا نسمى $F(x)$ تكامل العكس لـ $f(x)$ أو نسميها (أي $F(x)$) التكامل العكس للمردود $f(x)$ ~~indefinite integral~~ $f(x)$ ويتصل الرمز $\int f(x) dx$ للدلالة على أن المطلوب هو التكامل العكس للمردود $f(x)$ أي أن:

$$\int f(x) dx = F(x) + C$$

where C is constant of integration (arbitrary constant)

EX: Find an antiderivative of $f(x) = x^2$.

Notice that $F(x) = \frac{1}{3} x^3$ is an antiderivative of $f(x)$. Since

$$F'(x) = \frac{d}{dx} \left(\frac{1}{3} x^3 \right) = x^2.$$

but

$$\frac{d}{dx} \left(\frac{1}{3} x^3 + 1 \right) = x^2 \quad \text{for any constant}$$

c , we have

$$\frac{d}{dx} \left(\frac{1}{3} x^3 + c \right) = x^2$$

$H(x) = \frac{1}{3} x^3 + c$ is an antiderivative of $f(x)$, for any choice of constant c .

In general! observe that if F is any anti-derivative of f and C is any constant, then

$$\frac{d}{dx} [F(x) + C] = F'(x) + 0 = f(x).$$

Theorem (1) Suppose that F and G are both antiderivatives of f on $[a, b]$. Then

$$G(x) = F(x) + C \text{ for some constant } C.$$

Defⁿ: (1)

Let F be any antiderivative of f . The indefinite integral of $f(x)$ (with respect to x) is defined by

$$\int f(x) dx = F(x) + C$$

where C is an arbitrary constant (constant of integration)

EX! Evaluate $\int 3x^3 dx = \frac{3}{4} x^4 + C$

$3x^3$ is derivative of $\frac{3}{4} x^4$.

Theorem (2) (power rule)

For any rational power $r \neq -1$

$$\int x^r dx = \frac{x^{r+1}}{r+1} + C$$

EX!

$$\int x^6 dx = \frac{x^7}{7} + C ; \int x^{1/2} dx = \frac{2}{3} x^{3/2} + C$$

$$\int \frac{dx}{x^3} = \int x^{-3} dx = -\frac{1}{2} x^{-2} + C$$

$$\int \sqrt[3]{x} dx = \int x^{1/3} dx = \int x^{-1/3} dx = \frac{3}{2} x^{2/3} + C$$

Theorem : (3) Suppose that $f(x) \neq g(x)$ have antiderivatives. Then for any constant a and b

$$\int [a f(x) + b g(x)] dx = a \int f(x) dx + b \int g(x) dx$$

proof!

we have $\frac{d}{dx} \int f(x) dx = f(x)$, and $\frac{d}{dx} \int g(x) dx = g(x)$, then

$$\frac{d}{dx} [a \int f(x) dx + b \int g(x) dx] = a f(x) + b g(x).$$

EX: $\int (3x^2 + 5) dx = \int 3x^2 dx + \int 5 dx = x^3 + 5x + C$

Basic Formulas of Integration

1- $\int dx = x + C$

2- $\int a dx = a \int dx$

3- $\int x^n dx = \frac{x^{n+1}}{n+1} + C, n \neq -1$

4- $\int u^n du = \frac{u^{n+1}}{n+1}, n \neq -1$

u is a f^n of x

OR, if $u = f(x) \Rightarrow du = f'(x) dx$, then (4) becomes

$$\int [f(x)]^n f'(x) dx = \frac{[f(x)]^{n+1}}{n+1} + C, n \neq -1$$

EX: calculate $\int (x^2 + 2x - 5)^3 (x+1) dx$

$u = f(x) = (x^2 + 2x - 5) \Rightarrow du = f'(x) = 2x + 2 = 2(x+1) dx$

$$\begin{aligned} \int (x^2 + 2x - 5)^3 (x+1) dx &= \frac{1}{2} \int u^3 \cdot du = \frac{1}{2} \frac{u^4}{4} + C \\ &= \frac{1}{8} (x^2 + 2x - 5)^4 + C \end{aligned}$$

$$(2) \int (3x^2 - 9x + 1)^{1/2} (2x - 3) dx$$

let

$$u = 3x^2 - 9x + 1 \Rightarrow du = (6x - 9) dx = 3(2x - 3) dx$$

$$\begin{aligned} \int (3x^2 - 9x + 1)^{1/2} (2x - 3) dx &= \frac{1}{3} \int u^{1/2} du \\ &= \frac{1}{3} \cdot \frac{2}{3} u^{3/2} + C = \frac{2}{9} (3x^2 - 9x + 1)^{3/2} + C \end{aligned}$$

$$\begin{aligned} (3) \text{ find } \int \frac{3x^3 + 5}{x^2} dx &= \int \frac{3x^3}{x^2} dx + \int \frac{5}{x^2} dx \\ &= \int 3x dx + \int 5x^{-2} dx \\ &= \frac{3}{2} x^2 + C_1 + 5 \frac{x^{-1}}{-1} + C_2 \\ &= \frac{3}{2} x^2 - 5/x + C \end{aligned}$$

$$(4) \text{ solve } \frac{dy}{dx} = x \sqrt[3]{y} \quad (\text{Diff. equation})$$

$$dy = x \sqrt[3]{y} dx = x y^{1/3} dx$$

$$dy = x y^{1/3} dx \Rightarrow \int dy = \int x y^{1/3} dx$$

$$\int \frac{dy}{y^{1/3}} = \int x dx \Rightarrow \int y^{-1/3} dy = \int x dx$$

$$\frac{3}{2} y^{2/3} + C_1 = \frac{x^2}{2} + C_2$$

$$3 y^{2/3} + 2C_1 = x^2 + 2C_2$$

$$3 y^{2/3} - x^2 + C = 0$$

Defⁿ: For $x > 0$, we define the natural logarithm function by $\ln x = \int_1^x \frac{1}{t} dt$.

$$\int \sin x dx = -\cos x + C \quad ; \quad \int \cos x dx = \sin x + C$$

$$\int \sec^2 x dx = \tan x + C \quad ; \quad \int \csc^2 x dx = -\cot x + C$$

$$\int \sec x \tan x dx = \sec x + C \quad ; \quad \int \csc x \cot x dx = -\csc x + C$$

$$\int \frac{dx}{x} = \ln|x| + C, x \neq -1; \int e^x dx = e^x + C$$

$$\int a^x dx = \frac{a^x}{\ln a} + C \quad ; \quad \int e^{-x} dx = -e^{-x} + C$$

EX: ① $\int (3 \cos x + 4x^5) dx = \int 3 \cos x dx + \int 4x^5 dx$
 $= 3 \int \cos x dx + 4 \int x^5 dx$
 $= 3 \sin x + 4 \frac{x^6}{6} + C = 3 \sin x + \frac{2}{3} x^6 + C$

② $\int (3e^x - 2 \sec^2 3x) dx = \int 3e^x dx - \int 2 \sec^2 3x dx$
 $= 3 \int e^x dx - 2 \int \sec^2 3x dx$
 $= 3e^x - 2 \frac{1}{3} \int 3 \sec^2 3x dx = 3e^x - \frac{2}{3} \tan 3x + C$

Theorem: if $\int f(x) dx = F(x) + C$, then for any constant $a \neq 0$

$$\int f(ax) dx = \frac{1}{a} \int a f(ax) dx = \frac{1}{a} F(ax) + C$$

EX: $\int \sin 4x dx = \frac{1}{4} \int 4 \sin 4x dx = \frac{1}{4} \cos 4x + C$

$$\int e^{3x} dx = \frac{1}{3} \int e^{3x} 3 dx = \frac{1}{3} e^{3x} + C$$

$$\int 8 \sec^2 5x dx = \frac{8}{5} \tan 5x + C$$

Corollary: $\int \frac{f'(x)}{f(x)} dx = \ln|f(x)| + C, \quad f(x) \neq 0$

Ex: (1) $\int \frac{\sec^2 x}{\tan x} dx = \ln|\tan x| + C$

(2) $\int \frac{2x}{x^2+3} dx = \ln|x^2+3| + C$

Ex: If a space shuttle's downward acceleration is given by $y''(t) = -32$ ft/s, find the position function $y(t)$. Assume that the shuttle's initial velocity is $y'(0) = -100$ ft/s, and that its initial position is $y(0) = 100,000$ feet.

$$y'(t) = \int y''(t) dt = \int -32 dt = -32t + C$$

$y'(t)$ is the velocity of the shuttle

$$v(t) = y'(t) = -32t + C, \quad v(t) = -100 \text{ ft/s}$$

$$-100 = v(0) = -32(0) + C \Rightarrow C = -100$$

$$y(t) = \int y'(t) dt = \int (-32t - 100) dt$$

$$= -16t^2 - 100t + C$$

$y(t)$ is height of the shuttle,

$$100,000 = y(0) = -16(0) - 100(0) + C =$$

$$C = 100,000$$

$$y(t) = -16t^2 - 100t + 100,000$$

Ex: $\int \frac{\sin 2x}{5 \cos 2x} dx = \frac{1}{2} \int \frac{\sin 2x}{\cos 2x} dx = \frac{1}{2} \ln|\cos 2x| + C$

$$\int x^{-\frac{3}{2}} dx = -\frac{1}{2} \int -2x^{-\frac{3}{2}} dx = -\frac{1}{2} \ln|-\frac{1}{2} x^{-\frac{1}{2}}| + C$$

Ex: find the function $f(x)$ satisfying the given conditions:

(i) $f'(x) = 4x^2 - 1, f(0) = 2$

(ii) $f''(x) = 12, f'(0) = 2, f(0) = 3$

(iii) $f''(x) = 2x; f'(0) = -3, f(0) = 2$

Solⁿ
(i) $y(x) = \int f'(x) dx = \int (4x^2 - 1) dx = \frac{4}{3}x^3 - x + C$

since $f(0) = 2$, hence

$$y(0) = \frac{4}{3}(0) - (0) + C = 2 \Rightarrow C = 2$$

$$y(x) = \frac{4}{3}x^3 - x + 2$$

Ex: find the function satisfying the given conditions

(i) $f'(x) = 3 \sin x + 4x^2$, (ii) $f'''(x) = \sin 2x - e^x$

Solⁿ (i) $f'(x) = \int f''(x) dx = \int (3 \sin x + 4x^2) dx$
 $= -3 \cos x + \frac{4}{3}x^3 + C_1$

$$f(x) = \int f'(x) dx = \int [-3 \cos x + \frac{4}{3}x^3 + C_1] dx$$

$$= -3 \sin x + \frac{1}{3}x^4 + C_1 x + C_2$$

(ii) $f'''(x) = \int f''''(x) dx = \int (\sin 2x - e^x) dx = -\frac{1}{2} \cos 2x - e^x + C_1$

$$f''(x) = \int f'''(x) dx = -\frac{1}{2} \int \cos 2x - \int e^x dx + \int C_1 dx$$

$$= -\frac{1}{4} \sin 2x - e^x + C_1 x + C_2$$

$$f'(x) = \int f''(x) dx = \int [-\frac{1}{4} \sin 2x - e^x + C_1 x + C_2] dx = \frac{1}{8} \cos 2x - e^x + C_1 x^2/2 + C_2 x + C_3$$